
	MATHS:

Complete the attached problems – don’t forget to show your workings!
[bookmark: _GoBack]Don’t worry – there is NOT a number 7!
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8. Five children go to the cinema.
Large popcorn costs £3.75
Drink costs £2.40
They share the cost equally of buying 2 popcorns and 3 drinks.
How much does each child pay?

Show your method.
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Mr Lucas is making some jam to sell at a school fair.

Raspberries cost £7.25 per kg

Sugar costs 85p per kg

6 glass jars cost £1.80

He used 15kg of raspberries and 8kg of sugar to make 30 jars of jam.
Calculate the total cost to make 30 jars of jam.

Show your method.
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Fluency
Complete these questions.

1. 847 - 100 =

2. = 375 + 789

3.85 +5 =

4,37 %6

5.383.49 - 74.84 =

6. 0.8 +10 =

Week 1 Day 1

Problem Solving
Write the three missing digits
to make this addition correct.

+ 4 4
7 9 2
Reasoning
15 x 6.1 = 91.5
Prove it!
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Missing Number Questions

1. Write the three missing digits to make this
addition correct.

2. Write the four missing digits to make this
subtraction correct.
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3. Write the three missing digits to make this
addition correct.
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4. Write the three missing digits to make this
subtraction correct.
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6. Complete this division calculation by
filling in the missing numbers.

2 6 5
5 5
3 4
1
1.0 2
5
5
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5. Write the two missing digits to make this long
multiplication correct.





